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82.1
2.1.1
1. rv df
2.1.1 Q, #,P) , X Q xek, X
< X):={o : Mo) < X}eF
X , rv.
A(X):= AX< X), XxeR
X ar.
2. rv df
rv dar
3. rv df
2.1.2 rv [ AX)] {x} rvx
o= POE X)), 1=1,2, (,n)
{n} X
Xl X2 (Xn)
P P (Py)
X . n O
2.1.3 rv X %) X
(_OO H X]
F (X)=P(X <x)=P(-0< X SX):J._X f(y)dy, VxeR
XL AA] ) X[ AXNI paf.
f(X). O
2.1.2 .
1. ar
2.1.1 Y
1 2 3
0.3 06 01/
Yy df
E (y) = 03 1<y<2 0.9 —0
"9 2<y<3 08
1 >3. 0.3 o
y 0.3
. I\ l l
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2.1.2 X pdf

0 Xx<a
1/(b- b -
£ o= (0ma) xe(@bl F.00=12"2 a<x<b.
0 otherwise b-a
1 X=>b
2. df
1 rvXx dFF()
F1) FO) < FO), V X y;
F2)
F(+0) := lim,, F (X)) =1, F(-©) = limg - F (X) =0;
F3) FOe0) = = lim | F(y)=F(x).
2 ( ) ) R)
df.
3 df ) df, R(X) df, i=1,2, .,n,
3,20, i=12..n Y a=1, F(X):=Y'a F(x df.
2.2.3.
1 ( )  {y om0V, Yop=l
pdf  RxX) >0, V xeR, jw f(y)dy=1 .
2 1) rv {n }
A() = D B, YxeR
2) ,;de (%) rvX
A(X) = j f(y)dy, VxeR
3 1) rv Xo VX
POEX) =hzpn , YV .
2) X, P(X =x) =0.
fHdx X x ;
b
P(X e(a,b]) = j f. (x)dx = La,b] f (x)dx .
b |P(Xe D):jD f., (x)dx
[ ]
° daf
213 3 4 123 4 LOX e
-y 1 2 3 4
' 37/64 19/64 7/64 1/64

1/3 xe[0,1]
2.1.4 rvx pdf T(X)=42/9 xe€[3,6] , K P(X>k)=2/3,
0 otherwise
k ) [1, 3]

° ar
2.1.5 a , paf, f(x)=a eV, (x).
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2.1.6 A X df, i-1,2, AX)= aR(X)-bR(X) df,
A) a=3/5, b=-2/5. B) a=2/3, b= 2/3.
C) a=-1/2, b= 3/2. D) a=1/2, b= -3/2.
[
2.1.7 paf  f(X)=— 1(x>100)
X
1) a ;
2) ; 150
0 o0 a
1) 1= f(x)dx= | a/x*dx=—1, a=100
) j (%) j /X =
2) 150 Ber-E
150 B3, ),
150 150 / 1100 1
p= | f(x)dx= | 100/x*dx=100-[- ]==.
—J;o 1-([0 X150 3
, 150
1 (2Y 4
Clpl-p)? =3x=x|=| =—~0.44.
sP(1-p) 3 (J 5
3
<« ”> 1- E =£z0.701
3 27
82.2
, Poisson rv
2.2.1
1. Bernoulli
1 Bernoulli
2) n Ber- B(n, p)
3) Ber- Ge(p)
2. Poisson
1) Poisson Poisson
2.3.1 Poisson Soy» 20  Poisson I8
A<
)= Py =) = Ll k0,1,
Poisson A .
2) Poission P(L)
3) Poisson Ex())
Ua,n) NQu, o
2.2.2
1.
2.
1
X~B(n, p, X [(mDp . (H)p [(#Dp] 1
np-q . [1 .
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X~ Ge( p), X 1.
X~P(D), X [ A [A] A
2 B(n, p) Poisson
2.3.1 (Poisson ) X, ~B(n, Pp) n
P, - lim,_,_np, =2>0 k,
//ik
P(X,=0=Cp, (L= p,)"" > e n—>eo.
3
X ~ Ge(p) P(X >mk | X >n) -: P(X >K).
X~ ExX(1) P(X >stt | X >s) = P(X >t)- 0<s 0< L
4 1) [a, O] rv [a, O]
. P(XeD)= L(D)/(b a), D
D [a 4] ( )
2) pdf X=pu
¢(u X p,0)= p(u+Xu,0).
, O(u—xu,0)=1 O(u+ X, u,0).
5
1) (X 4,0)>0 " (X p,0), ¥ 1 :
2) p(x;u,0) (o, p) X=p 1/ (N2ro) ('
©) ; r o) pdf ( 2.2.7),
3) X~NQ, o9 X*=(X-u)lo ~ N, 1).
4) 3o - 2 3o
3o
6
@.- , : B(m,p) F(r,p) T(r.,p)
« r ), Ge(p) Ex(R)
2. , B(n,p) F(r.p) PG T(r.,p)
3). ar
[ ]
2.2.1
Al 20 B 3 80
0.01
Yo n ¥~B(n, p),
P, =P(Y,, >1) =1-P(Y,, =0) - P(Y,, =1)
=1-9* -Cj,pq” ~0.0169
Poisson A=0.2, p,=1-e%-02xe*~0.0175
=P(Y >3 1= O—(8OX001) 60000 + 0,0091 .
P > Pa, B
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2.2.2 0
10 ; X X
P(X=k)=qg*“'p, k=1 2, .., 9 P(X=10)=¢q’
2.2.3 ( ) ( )X pdf
f,(x)=2e" 1(x>a), >0 a; y=x-a, £, (X)
pdf ? ?

2.2.4 X~ N(u, %) .
1) P@<x< b
2) u 20 o 407 P(JM < 20)

X, P(X>x) =0.05.

q)(b;ﬂ)_q)(a;“); ®(0)—d(-1) =0.5—0.1587=0.3413, x 85.6

2.25 6 6 )
6 0.8, 4
2-1 2 42
p.=P(x=2=Cpq" " p=02
www.tsinghuatutor.com -5- 1101 62781785



